C8Leanig

Dividing by multiples of 10, no remainders

Division Practice Worksheet

4,500 + 60 = 3,360 + 70 =
120 + 30 = 4,400 + 50 =
3,500 + 20 = 9,480 + 60 =
6,280 + 40 = 720 + 30 =
200 + 80 = 5,400 + 60 =
440 + 20 = 6,300 + 60 =
300 + 50 = 8,100 + 60 =
510 + 30 = 700 = 70 =
200 + 40 = 5,910 + 30 =
280 + 40 = 160 + 80 =
620 + 20 = 280 + 40 =
1,920 + 10 = 800 + 40 =
840 + 40 = 8,480 + 80 =
360 + 30 = 9,040 + 80 =
360 + 40 = 1,800 + 10 =
680 + 40 = 870 + 30 =
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C8Leanig

Dividing by multiples of 10, no remainders

Division Practice Worksheet

4,500 + 60 = 75
120 + 30 = 4
3,500 + 20 = 175

6,280 + 40 = 157

200 + 50 = 4
440 + 20 = 22
300 + 50 = 6
510 = 30 = 17
200 + 40 =5
280 + 40 =7
620 + 20 = 31

1,920 = 10 = 192

840 + 40 = 21
360 + 30 = 12
360 + 40 =9
680 + 40 = 17

3,360 + 70 = 48
4,400 = 50 = 88
9,480 + 60 = 158
720 + 30 = 24
5,400 + 60 = 90
6,300 + 60 = 105
8,100 + 60 = 135
700 = 70 = 10

5,910 + 30 = 197

160 + 80 = 2
280 + 40 = 7
800 + 40 = 20

8,480 + 80 = 106
9,040 + 80 = 113
1,800 + 10 = 180

870 + 30 = 29
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